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. (17%) The quarter-circular hollow tube of

circular cross section starts from rest at time
=0 and rotates about O in the horizontal plane
with a constant counterclockwise angular
acceleration §=2 rad/s’. At what time ¢ will
the 1-kg particle P slip relative to the tube?
The coefficient of static friction 4, between
the particle and the tube, is 0.8 and the
coefficient of kinetic friction g, is 0.6.

(25%) The two identical uniform bars are
released from rest from the position shown in
the vertical plane. Determine the angular

velocity o of the AB when the bars become
collinear.

N

5%) 'I'he tied crank and gear mechanism
gives rocking motion to crank 4C, necessary
for the operation of a printing press. If link
DE has the angular motion shown,
(1)determine the respective angular velocities
and angular accelerations of gear F and

crank AC at this instant. (18%)

(2)Please describe briefly how link DE moves
to accomplish a complete motion cycle of
the printing press, as well as how crank
DE moves! (7%)
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(25%) The system composed of four light
rigid rods and the cylinder of mass m is shown
in its equilibrium position. Determine the
natural frequency of small-amplitude vertical
oscillation of the cylinder. (Hint: Retain only
first order terms.)




